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QUESTION 1

Which command is most useful for debugging the fwaccel module?
A. fw zdebug

B. securex| debug

C. fwaccel dbg

D. fw debug

Correct Answer: C

QUESTION 2

Check Point Threat Prevention policies can contain multiple policy layers and each layer consists of its own Rule Base
Which Threat Prevention daemon is used for Anti-virus?

A. in.emaild.mta

B. in.msd

C. ctasd

D. in emaild

Correct Answer: D

QUESTION 3

What process is responsible for sending and receiving logs in the management server?
A. FWD

B. CPM

C. FWM

D.CPD

Correct Answer: A

The FWD process is responsible for sending and receiving the logs from the different Check Point entities to the security
management\log server (sometimes they are on the same machine).14 de nov. de 2019
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QUESTION 4

What is the difference in debugging a S2S or C2S (using Check Point VPN Client) VPN?

A. there is no difference

B. the C2S VPN uses a different VPN deamon and there a second VPN debug

C. the C2S VPN can not be debugged as it uses different protocols for the key exchange

D. the C2S client uses Browser based SSL vpn and cant be debugged

Correct Answer: A

It says that C2S is with Checkpoint VPN Client installed, so is a Remote Access VPN... Since Remote Access uses the
same daemons as a S2S VPN, it won\\'t be any difference on the debug at the Gateway side... At the client side you

need to check logs on vpn client... Regarding answer D, it refers to an SSL browse based VPN that DONW'T require
client

QUESTION 5

What are four main database domains?
A. System, Global, Log, Event

B. System, User, Host, Network

C. Local, Global, User, VPN

D. System, User, Global, Log

Correct Answer: D
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